
 

 

izkjfEHkd f'k{kk iww.kZrk izek.k i= ijh{kk 2022   
ekWMy iz'u i=   

Model Paper  
d{kk & 8 

Class - VIII 
fo"k; &xf.kr  

Subject - Mathematics  
le;& 2-30 ?k.Vs          iw.kkZad&80 
Time- 2.30 hours                    Marks- 80  

Hkkx v  
part 1  

oLrqfu"B iz'u (Objective Type) 
 
iz'u 1 - uhps pkj fodYi fn, x, gSaA lgh fodYi dks dks"Bd esa Hkfj;sA   𝟏𝟓 × 𝟏 = 𝟏𝟓 

Four optional  given below choose the correct option and fill in bracket.  
I. fuEu esa ls dkSulh ifjes; la[;k ;ksT; rRled gS&           1 

Which of these is additive inverse of the following.  
(a) 0  (b)  1  (c) &1   (d)&2   ¼ ½ 

II.  &5 dk xq.kkRed izfrykse gSA           1 
Additive inverse of -5 is  

(a) 0  (b) 5  (c)−
ଵ

ହ
  (d) &5     ¼ ½ 

III. lehdj.k 6𝑥 = 12 dk gy gS&         1 
Solution of the equation 6𝑥 = 12 is  

(a) 6  (b)  12  (c) 2   (d)&2    ¼ ½ 

IV. lehdj.k 2𝑥 − 3 = 5 es pj dkSulk gS\        1 
Which of the variable in equation 2𝑥 − 3 = 5 

(a) 2  (b) 𝑥  (c) 3   (d) 4     ¼ ½ 

V. ଷ

௫
= −3 gks rks 𝑥 dk lgh eku gS&           1 

Correct value of 𝑥 in 
ଷ

௫
= −3 is  

(a) 𝑥 =
ଷ

ଷ
 (b) 𝑥 =

ଷ

ିଷ
 (c) 2 

௫

ଷ
= 3  (d) −3 =

௫

ଷ
  ¼ ½ 

VI. 9 dk oxZ gSS&              1 
Square of 9 is-  

(a) 18  (b) 3  (c) 81   (d) bues ls dksbZ ugha  ¼ ½ 

VII. 100 dk oxZewy gS&            1 
Square root of 100 is  

(a)10  (b) 100  (c) 1   (d) 0    ¼ ½ 



 
 

VIII. 15625 ds ?kuewy esa bdkbZ dk vad gksxk&         1 
Once place digit is in cubic root of 15625  

(a) 3  (b) 4  (c) 5   (d) 6     ¼ ½ 

IX. fdlh d{kk ds 40 fo|kfFk;ksa esa ls 60 %  izFke Js.kh esa mRrh.kZ gq, rkss izzFke Js.kh 
fo|kfFk;ksa dh la[;k gS&           1 
In a class 60% students are passed first division out of 40% How many students 
have first division.  

(a) 20  (b) 24  (c) 28   (d) 32   ¼ ½ 

X. 2ିସ dk xq.kkRed izfrykse gS&          1 
Multiplicative inverse of 2ିସ is  

(a) 42  (b) 24  (c) 16   (d) 
ଵ

ଵ଺
   ¼ ½ 

XI. (12)° dk eku gksrk gS&            1 
Value of (12)° is-  
(a) 0  (b) 1  (c) 12   (d)1ଶ °   ¼ ½ 

XII. 12𝑥, 36 dk lkoZxq.kUk[k.M gS&           1 
Common factors of 12𝑥, 36 
(a) 12  (b) 12𝑥   
(c) 3  (d) 36        ¼ ½ 

XIII. fp= esa fn;s x;k vkys[k dkSulk gS\  1  
Which type of graph is in figure- 
(a) n.M vkys[k  (Bar graph)  
(b) vk;rfp=  (Histogram)   
(c) òÙk vkys[k  (Circle graph)  
(d) js[kh; vkys[k  (Line graph)   ¼ ½ 

 
XIV. la[;k 10 × 5 + 6 dk lkekU; :i gS&       1 

General form of 10 × 5 + 6 is. 
(a) 506  (b) 56  (c) 11   (d) 1056  ¼ ½ 

XV. dksbZ la[;k 10 ls foHkkftr gksrh gSA ;fn       1 
A number is divisible by 10 if. 
(a) la[;k ds vadks dk ;ksx 10 gks (sum of digits of number is 10 )  
(b) la[;k esa bdkbZ ds LFkku ij 0 o 5 gksa (Unit place number is 0 and 5) 
(c) la[;k esa bdkbZ ds LFkku ij lela[;k gksA (Even number at the unit place) 
(d) la[;k esa bdkbZ dk vad 0 gksa (ones/unit place digit is 0)   ¼ ½ 

 
 



 

 

 
iz'u-2 dks"Bd es fn;s x, lgh mÙkj pqudj fjDr LFkku Hkfj;sA    8 × 1 = 8 
Fill in the blanks with choose the correct answer from the bracket) 

I. &2 ls cMh ifjes; la[;k----------------------- gSA     ¼&3] 0½  
Rational number greater then -2 is.......................   (-3,0) 

II. 𝑥 ls 5 vf/kd -------------------- gSA      ¼𝑥 + 5 , 5𝑥½ 

5 more than 𝑥 is .....................      𝑥 + 5 , 5𝑥 
III. oxZ esa fod.kksZ dh la[;k ------------------------ gksrh gSA    ¼2]4½ 

Number of diagonals in a square is .....................  (2,4) 
IV. 272 ds oxZ esa bdkbZ dk vad------------------------ gksrk gSA  ¼8]4½ 

Unit place digit in square of 272 is ...................   (8,4) 
V. 50 dk 50 %  dk eku -------------------- gksrk gSA    ¼25]100½ 

Value of 50% of 50 is ..................    (25, 100) 
VI. 7𝑥 − 42 dk xq.ku[k.M ---------------------- gksrk gSA  ¼6(𝑥 − 7), 7(𝑥 − 6)½ 

Factorisation of  7𝑥 − 42 is .....................   ¼6(𝑥 − 7), 7(𝑥 − 6)½ 

VII. ewy fcUnw ds funsZ'kkad ----------------------------- gSA   {(0,0), (3,2)} 

Point of origin is..................     {(0,0), (3,2)} 
VIII. la[;k 132 dss vadksa dks mYVs Øe ¼iyVus ij½ esaa cuus okyh la[;k ---------------------- gSA  

Reversing the number 132 is .....................   (231,213) 
 
iz'u 3- fuEufyf[kr dFkuksa dks i<dj lR;@vlR; pqfu;sA     7 × 1 = 7  
Read the following statement and choose true or false  

I. 2 o 0 ds e/; dh ifjes; la[;k &1 gSA      ¼lR;@vlR;½ 
Rational number -1 lie between 2 and 0     (True/ false) 

II. 𝑦 + 9 = 4 esa 𝑦 dk eku &5 gksrk gSA      ¼lR;@vlR;½ 
Value of y is -5 in y+9= 4 (True/ false) 

III. cgqHkqt ds lHkh cfg"dks.kksa dk ;ksx 360° gksrk gSA    ¼lR;@vlR;½ 
Total measure of all exterior angle is 360°      (True/ false) 

IV. ftl ewY; ij dksbZ oLrq csph tkrh gS og Ø; ewY; dgykrk gSA  ¼lR;@vlR;½ 
An Article is sold at which price is called cost price    (True/ false) 

V. 𝑎௠ × 𝑎௡ = 𝑎௠×௡         ¼lR;@vlR;½ 
𝑎௠ × 𝑎௡ = 𝑎௠×௡        (True/ false) 

VI. 𝑚ଶ − 25 ds xq.ku[k.M (𝑚 + 5) (𝑚 − 5) gSA    ¼lR;@vlR;½ 
Factorisation of 𝑚ଶ − 25 is (𝑚 + 5) (𝑚 − 5)    (True/ false) 

VII. ,d la[;k 9 ls foHkkftr gS ;fn muds vadks dk ;ksx 9 ls foHkkftr gksA¼lR;@vlR;½ 
A number is divisible by 9 if the sum of digit is divisible by 9    (True/ false) 

 



 

 

iz'u 4- feyku dhft,A (Match the following)      5 × 1 = 5 

[k.M v 
part A 

[k.M c 
Part B 

1. 2𝑥. 3𝑦 
2. 𝑥𝑦. 𝑦𝑥. 𝑧𝑥 
3. 25𝑦ଷ 
4. a.a.a 
5. ௫

 ௬
 dk ;ksT; izfrykse  

additive inverse  of ௫

௬ 
 is  

a. 𝑥ଶ 𝑦ଶ𝑧ଶ 
b. −

௫

௬
 

c. (−5𝑦) × (−5𝑦ଶ) 
d. 6𝑥𝑦 
e. 𝑎ଷ 

 

iz¼5&9½ vfry?kqÙkjkRed iz'u (Very short answer questions) 5 × 1 = 5 

 iz'u 5- 
 ହ

ସ
  dks la[;k js[kk ij iznf'kZr dhft,A       1 

Represent number 
 ହ

ସ
  on a number line. 

gy&  
Solve 

 
 
 
 
 
 
 

iz'u 6- 
ଷ௫

ହ
+  

ଶ௫

ହ
+

௫

ହ
 dks gy dhft,A         1 

Solve 
ଷ௫

ହ
+  

ଶ௫

ହ
+

௫

ହ
 

gy&  
Solve 

 
 
 
 
 
 
 
 
 
 



 

iz'u 7- f=Hkqt ABC esa cfg"dks.k 
Find the value of exterior angle x of 
gy&  
Solve 

 
 
 
 
 
 
 
 
 
 
 
iz'u 8- la[;k 21436587 dh 9
Check/ find the divisibility of 9 is number 21436587. 
gy&  
Solve 

 
 
 
 
 
 
 
 
iz'u 9- fuEu fyf[kr ;ksx esa A 
Find the value of A& B in the following addition. 
   + A  
   + A    
   BA 
gy&  
Solve 

 

 

 

 

esa cfg"dks.k x dk eku Kkr dhft,A    
Find the value of exterior angle x of ∆𝐴𝐵𝐶 

9 ls foHkkT;rk dh tk¡p dhft,A   
Check/ find the divisibility of 9 is number 21436587.  

A vkSj B Kkr dhft,A  
Find the value of A& B in the following addition.  

  A= 
  B=  

    1  

   1  



 
[k.M c  

part B 

y?kqRkjkRed iz'u (Short answer)  

iz'u 10-lehdj.k 3𝑥 = 2𝑥 + 18  dks gy dhft, ,oa vius mRRkj dh tk¡p dhft,A    3 

Solve the equation 3𝑥 = 2𝑥 + 18 and check your answer. 

gy&  
Solve 

 

 

 

 

 

 

iz'u 11- oÙ̀k vkys[k dks ns[kdj fuEu iz'uksa ds mRRkj nhft,A    3 vad 
Q.11 Answer the following question to see with the circle graph.   

(a) ,d fnu esa cPpksa }kjk lksus ij O;rhr le;  
(a)  Time spent by child for sleeping during a day.  

gy&  
Solve 

 
 

(b) x`gdk;Z esa O;rhr le; [ksy ls fdruk vf/kd gS\  
(b)How much more time spent in homework then playing. 

gy&  
Solve 

 
 
 

(c) Ldwy esa ,oa [ksy esa O;rhr le; dk vuqikr  
(c)   Ratio between time spent in school and 

plaing 
gy&  

Solve 



 

 

 

iz'u 12- 729 dk oxZewy Kkr dhft,A        3 vad 

Find the square root of 729 

gy& 
Solve 

 

 

 

 

  

iz'u 13- 1000 dk ?kuewy Kkr dhft,A        3 vad 

Find the cube root of 1000. 
gy& 
Solve 

 

 

 

 

 

 

iz'u 14- 102ଶ dk eku loZlfedk ds mi;ksx ls Kkr dhft,A    3 vad 

Find the value of 102ଶ by  algebraic identities. 

gy& 
Solve 

 

 

 

 

 

 



 

 

iz'u 15- eku Kkr dhft, ¼dksbZ nks½       3 vad 

Find the value of following (any two)  

   (a)(3଴ + 4ିଵ) 2ଶ        (b) 
଼షభ ×ହయ

ଶషర               (c) ൜ቀ−
ଶ

ଷ
ቁ

ଶ
ൠ

ଶ

 

gy&  
Solve 

 

 

 

        

 
 
 
 

iz'u 16- fuEufyf[kr O;atdksa ds xq.ku[k.M dhft,A ¼dksbZ nks½    3 vad 
Find the factorisation of the following expression (any two) 

1- 𝑎ଶ + 8𝑎 + 16  2- 𝑝ଶ − 10𝑝 + 25  3- 𝑎ସ − 𝑏ସ 

gy& 
Solve 
 
 

 
 
 

 

iz'u 17- vkd`fr esa n'kkZ;s fcUnqq A,B,C,D,E & F ds funsZ'kkad fyf[k;sA   3 vad  

Write the co-ordinate of point A,B,C,D,E & F show in the figure. 

 

A= (  )  B= (  )   C=(  )  

 



 

 

D=(  )  E=(  )   F=(  )  

 
[k.M l  
part C 

iz'u 18- fuEu vkd`fr;ka GUNS vkSj RUNS lekUrj prqHkqZt gSaA X rFkk Y Kkr dhft,  

¼yEckbZ  cm esa gSA½          4 vad 
The following figures GUNS and RUNS are parallelograms. Find x and y (lengths are 
in cm s )  
 

 

vFkok @or 

vkd`fr esa RISK rFkk  CLUE nksuksa lekUrj prqHkZqt gS] X dk eku Kkr dhft,A  
In the figure both RISK and CLUE are parallelograms. find the value of X  
 
 

 

 

 

gy& 
Solve 
 

 

 

 

 

 

 

 

 



 

 

 

 

iz'u 19 fuEufyf[kr lwpuk dks n'kkZus okyk ,d ikbZ pkVZ [khfp,A ;g lkj.kkh O;fDr;ksa ds 
,d lewg }kjk ilUn fd;s tkus okys jaxksa dks n'kkZrh gSA     4 vad 
 
jax  uhyk  gjk yky ihyk ;ksx  
O;fDr;ksa dh la[;ka  18  9 6 3 36 
 
 
Draw a pie chart (circle graph) showing the following information. The table shows 
the colours preferred by  a group of people.  
Colours Blue Green Red Yellow Total  
No. of people  18  9 6 3 36 

vFkok@or 
 
 
fdlh foHkkxh; LVksj ij [kjhnkjh djus vk, O;fDr;ksa dks bl izdkj vafdr fd;k tkrk gS% 
iq:"k(M)] efgyk (W)] yMdk(B)] ;k yMdh(G)A fuEufyf[kr lwph mu [kjhnkjksa dks n'kkZrh 
gS] tks izkr% dky igys ?k.Vs esa vk, gSaA  
W,W,W,G,B,W,W,M,G,G,M,M,W,W,W,W,G,B,M,W,B,G,G,M,W,W,M,M,W,W,W,M,
W,B,W,G,M,W,W,W,W,G,W,M,M,W,W,M,W,G,W,M,G,W,M,M,B,G,G,W  
feyku fpUgksa dk iz;ksx djrs gq, ,d ckjEckjrk caVu lkj.kh cukb;sA blss iznf'kZr djus ds 
fy, ,d n.M vkys[k [khafp,A  
The Shopers  who come to  a department store are market as Man  (M),  Women 
(W), Boy(B), Girl (G) The Following list gives the shopers who came during the first 
hour in morning  
W,W,W,G,B,W,W,M,G,G,M,M,W,W,W,W,G,B,M,W,B,G,G,M,W,W,M,M,W,W,W,M,
W,B,W,G,M,W,W,W,W,G,W,M,M,W,W,M,W,G,W,M,G,W,M,M,B,G,G,W  
Make a frequency distribution table using tally marks. draw a bar graph to 
illustrate it.  
 
 
 
 
 



 
 
 

 
gy& 
Solve 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 

 

iz'u 20- QSfcuk us :- 12]500] 3 o"kZ ds fy, 12 izfr'kr okf"kZd nj ls pØof) C;kt ls 
m/kkj fy;kA ;fn ;gh jkf'k brus gh le; ds  fy, dkS'kY;k us mlh nj ls mrus gh le; 
ds fy, lk/kkj.k C;kt ls m/kkj fy;k rks crkvksa fdldks vf/kd C;kt nsuk iMsxk ,oa 
fdruk \        4 vad 

Fabina borrows  Rs. 12,500 at 12% per annum for 3 years at compound interest 
and Kaushaliya borrows the same amount for the same time period and rate at 
simple interest. Who pays more interest and by how much\   

vFkok@ or  

fdlh pkSjkgs ij vkokxeu xr o"kksZ dh rqyuk esa 10 izfr'kr o`f) gksrh gSA ;fn bl o"kZ 
1540 okgu ,d fnu esa xqtjs rks xr o"kZ ,d fnu esa xqtjus okys okguksa dh la[;k Kkr 
dhft,A  

Traffic at a circle is increased by 10% as compared to previous year this year 1540 
vehicle passing through the circle in a particular day than find the mumber of 
vehical passing through the circle last year.  

gy&  
Solve- 
 
 
 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

iz'u 21- fdlh dkj }kjk r; dh xbZ nwjh dks rkfydk esa n'kkZZ;h xbZ gSA  4 vad 

le; ¼?kaVksa esa½ 6 cts izkr% 7 cts izkr% 8 cts izkr% 9 cts izkr% 
nwjh ¼fdeh esa ½ 40 80 120 160 

mi;qDr iSekus dk iz;ksx djrs gq, rkfydkvksa es fn, x, jkf'k;ksa ls jSf[kd vkys[k cukb;sA  

Table is shown distance travelled by a car 

Time( hours) 6 am  7 am 8 am 9 am 
Distance (km) 40 80 120 160 
Draw the graph of values for the following table with suitable scales on the axis.  

vFkok @ or  

fofHkUu o"kksZa es fdlh ioZrh; uxj esa fgeikr ds fnuksa dh la[;k rkfydk esa fn;k x;k gSA  

o"kZ 2018 2019 2020 2021 
fnu 8 18 5 12 

rkfydk dk iz;kssx dj jSf[kd vkys[k cukb;sA  

The number of days a hill side city received snow in different years.  

Year 2018 2019 2020 2021 
Days 8 18 5 12 
Use the table below to draw line graph with suitable scales.  

gy&  
Solve 

 

 

 

 

 

 

 

 

 

 

 



 
 



 

 

jQ dk;Z /Ruff work   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


